
I. A company must pay liabilities of 1200 due one year from now and another 2400 due two years from now. There
are two available investments: one-year zero coupon bonds and two-year bonds with 6% annual coupons
maturing at par. The one year spot rate is 4% and the one year forward rate is 5%. What is the company's total
cost of the bonds required to exactly (absolutely) match the liabilities? [9.i-n #04]

A) 3352 B) 2856 C) 2980 D) 3104 E) 3228
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2. A company must pay liabilities of 1600 due one year from now and another 2800 due two years from now. There
are two available investments: one-year zero coupon bonds and two-year bonds with 8% annual coupons
maturing at par. The one year spot rate is 3% and the one year forward rate is 5%. The company plans to use
bonds to exactly (absolutely) match the liabilities. How much must they invest in one-year bonds? [9.i-n #04]

A) 1352 B) 1302 C) 1402 D) 1452 E) 1502
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